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Notice:

| ndividual students, nonprofit libraries, or schoolsare
permitted to make fair use of the papersand its
solutions. Republication, systematic copying, or
multiple reproduction of any part of thismaterial is
permitted only under license from the Chiuchang

M athematics Foundation.

Requestsfor such permission should be made by
e-mailing Mr. Wen-Hsien SUN ccmp@seed.net.tw
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International Young Mathematicians’ Convention
Junior level

| ndividual Contest

Time limit: 90 minutes

Information:

® You are allowed 90 minutes for this paper, consistif 8 questions to
which only numerical answers are required.

® Each question is worth 10 points. No partial ciedre given. There are
no penalties for incorrect answers, but you musgne more than the
number of answers being asked for. For questickia@g$or several
answers, full credit will only be given if all cexct answers are found.

® Diagrams shown may not be drawn to scale.

Instructions:

® \Write down your name, your contestant number and t@am’s name
on the answer sheet.

® Enter your answers in the spaces provided on theemsheet.

® You must use either a pencil or a ball-point pemcis either black or
blue.

® You may not use instruments such as protractols,ledors and
electronic devices.

® At the end of the contest, you must hand in theslpe containing the
guestion paper, your answer sheet and all scragrpap

Team: Name: No.: Score:
For Juries Use Only
No. | 1| 2| 3| 4|5 | 6| 7| 8| Tota
Score
Score




A farmer sold each of his peaches at a differeigepthe last one was sold for
$2.30. He computed that the average price of psashe $2.45. However, a
customer returned a rotten peach and agreed bityab@ reduced price of $1.58.
The farmer re-computed the average price, whiclrec$2.42. What is the
minimum number of peaches the farmer could hawd?sol

Let Sbe a set of 6 integers taken from {1, 2, 3, ..., 4@¢h that ifa andb are
both elements dbwhere a<b, thenb is not a multiple o&. Find the total
number of distincEthat satisfies the said conditions.

In a chess tournament, each player will play witrg other player exactly once.
A win is worth two points, a draw is worth one ppiand a loss is worth zero.
Two gifted students from an elementary school toak in a chess tournament at
a nearby university and the combined score of bt@mentary school students is
13. If the scores of each university student drthalsame, then what is the score
that each university student got in the tournament?

How many ordered pairsn( n) of positive integers are there which satisfy the
equation m’ —2m=n’+ 4n+ 201¢£?

There are nine small squares, each with an area
3 cnf, are enclosed inside a larger square as show
in the diagram. If all the squares that are toughin
each other are coinciding with the midpoint of the
side of the other square, then find the area, if) cm
of the shaded region.

How many ways can a student schedule 3 mathensatijscts — Algebra,
Geometry and Number Theory — in a seven-periodddatey if any one of these
subjects is not allowed to be taken in consecytesods?

In the figure ABC is an equilateral triangle wheke A

IS a point onCA, F is a point orAB andG is a point
of intersection ofBE and CF. If triangle BCG has E
the same area as quadrilaterdEGF, then
determine the measure, in degrees/tH#GF .

B D C

There are six tokens having different weights ngme|, 29, 4g, 89, 16g, and
32g. How many different ways can we get a weigt2dgf using a regular
two-sided weighing scale? (Note: Each token maglaeed on either pan of the
balance, and it is not necessary to use all thenkn each weigh).



